Under the system of Executive Presidency
(A) Parliament elects the President
(B) People directly elects the President

(C) Electoral college elects the President

(D) Prime Minister and Council elects the
President

How many even numbers are there in the
following sequence of numbers which are
immediately followed by an odd number as
well as immediately preceded by an even
number ?
8676893275342235
52281109

(A) Three (B) Five

I3 One (D) None ?Ei%
W2HE

2"0}16.- A:nnual Financial Statement
nsututes the main .d

of the government, ceument

(A) Revenue budget (B) Budget

(C) Balanced budget (D) Capital budget

:I\:v? numbers are in the ratio 3 : 5. If each
IS Increased by 10, the ratio becomes
S:7. The numbers are

4 15,28 (D) 30, 42

" 8% July 2009 is a Sunday, which day of
1e week will 23 September 2013 be ?

\) Sunday (B) Friday

) Thursday (D) Saturday

> salt water lake located in Rajasthan is
Dal lake (B) Pulicat lake
Sambhar lake (D) Chilka lake

h among the following is highest in the
> hierarchy ?

1spector General of Police

iditional Director General of Police

puty Inspector General of Police

perintendent of Police

FrART STeerdt 1 TR & g
(Ay TER Tl T AT Fef)
(B) T # T T ey
(C) T I T2 1 ey 4
(D) ST 3R TREE gy g g

1 8
Frefesan s e i e o sy
& o7 e T O Fore Tt s ey
AT TR 7 |
8676893275342235
52281109 o

C) = (D) 77
aﬁ?ﬁiﬂwﬁmﬂw%w

TEETER E | ———
(A) Wm B) T

(C) gt wvi (D) Hfawe D

TS ;5% IS | 2Rk DA
10 R 9fg e 2, 5 .

E@T&% SIS - 7?“‘"37%!
(A) 12, 20 £

) 1505 ((D; 26542

R 8 JAE 2009 :
Wwﬁmmﬁqgﬁ?% | 23 frdat 20139

(A) faam ®)
(C) TEaw D) whaR

™ R e oy gy
(A) T 3 B .
S AR
fer Tere 3 ;
TR IAAR 7 Frefiefee & & gy an e o0
(A) SfeTd Tefriarss
(B) AR S werfyagres
(C) T8 ITET R ara;
(Dy ferd Srefter
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which results due to con et diiferent 3 SRR |
different communities belonging o ; ;
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11, wEiAsWTAD
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A ( (
(4) 30 (B) 60 Q) 10 e
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13.

14.

15.

16.

17.

18.

isi and
In India, the main regulatory prgmifril; v
legislation governing bribery and ¢
is the

(A) Indian Company Act

B) Indian Penal Code

fC} Criminal Procedure Code

(D) Prevention of Corruption Act

on refers to

dependent of the world

The Glcba_lliza_ti
(A) Growing in

economies .
(B) Integration between countrics through
trade and foreign investments

iy .
{:}riilgultjnatjonal Corporations (MNCs)

(C) Decentralization of the economy

(D) None of the above

What is the minimum number of cuts

required to cut a cube into 294 pieces ?

(A) 18 (B) 17

(C) 21 (D) 19

Which type of ribosome present in
prokaryotic cell ? -

(A) 708 (B) 50S .

(C) 80S (D) 60S S
: HOR|

(5967 — 2437 — 1910) + ? = 27

(A) 60 (B) 50

(C) 65 (D) 45

Recently, the NARCL was registered in
Mumbai with the aim of cleaning up the bad
loans from bank books. NARCL is

(A) National Amount Resolvance Co. Ltd.
(B) National Asset Reconstruction Co. Ltd.

(C) National Asset Resolvance Co. Ltd.

(BJ -National Audit Resolvance Co. Ltd.

The election system in which the candidate
who is ahead of others, who crosses the
winning post first of all, is the winner
called in

(A) Plurality system

(B) Direct democracy system

(C) Indirect democracy system

(D) Dual Party system

The book titled “I Do What I Do” written by
(A) Viral V. Acharya

(B) Raghuram Rajan
(C) Manmohan Singh

(D) None of the above
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(A) 18 (B) 17
(C) 21 (D) 19
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(A) 70S

(C) 80S
(5967 — 2437 — 1910) + ? = 27

(A) 60 (B) 50

(C) 65 (D) 45
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which ¢ . Some WiSC B 30 oy an@%; REC
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: s: be imitated L
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i Tis validd (B) nq;?q%g TSt
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g8 () 1and 200, valid (D) 13 1 gy
(D) Iand Il are jiel Hmi
The percentage of PAR capture by green 23. E}qﬁq’fmtﬁ.q =
- plants S (B) 50% (A) 10- 20y il
() 10-20% 2 - 10% ’ ) 50
(c) 80% (D) 2-10% (C) 80% D) 2- 10
24, The EASE 4.0 reforms agenda’ is related with 24. ‘EASE 4 g ERE
(A) Global taxation reforms (A) WF TG I
(B) Manufacturing sector reforms (B) fmfor &3 gum
(C) Higher judiciary reforms (C) = =rawifere 4 gum
(D) Public sector banks (D) W &7 9%
25. Name the State has achieved excellency in 25. 3G T F1 A9 T e g e
information technology. B Jegeed T # 2 |
(A) Maharashtra (A) TR
(B) Rajasthan (B) TSH
() Tamil Nadu (C) Mg
(D) Kamataka [D},Eﬂfﬁ i
%. Ch . 3 o i 3 4
crl;‘;fba;g Russia inaugurated the first 26. < AR 71 3
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1 tunnel of diameter

i ircular cylindriFa - L it
* g s th 40m i8 the iron
o anfii sll:::cgl of iron. The arcé of
from D s
ired in m”~ 18
s:ec;c:;e:u: ) P
[[c: 160 © (D) 200 7™
3 : i
¢man rows 1 km in 5 minutes, atltihg
nadl- boircam and 6 km in 1 hour a'agams
;}tl:casm. The speed of the stream 18
(A) 6 kmph (B) 31<mphl’1 [;1*(;_.
(C) 10 kmph (D) 12 kmp wﬁl
i tion in
30. Country with largest livestock populati
W “'Ol'l_d : (B) Australia
(A) India o
(C) China (D)
)
31. In which language ‘Gathasapthashathi’ was
written ? ‘
(A) Prakrit (B) Pali
(C) Sanskrit (D) Brahmi

The type of soil used as bricks for
construction of houses is

(A) Laterite (B) Alluvial
(C) Black (D) Arid

32.

IORA refers to

(A) Indian Ocean Ring Association
(B) Indian Ocean Rim Association
(C) Indian Ocean Rocket Association
(D) Indian Ocean Range Association

33.

General Agreement on Tariffs and Trade
(GATT) renamed as World Trade Organisation
(WTO) in
(A) 1995
(C) 1996

(B) 1994
(D) 1997

35. From the given answer figures, select the

one in which the question figure is hidden/
@%1%3 embedded.

I :

£

=Y

B

(b)

2

(c) d

[3 o 13|
(A) a (B) d

(C) b (D) ¢

EAgIT

6 e"EMMS\

= y
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31.

32.

33.

34,

35.
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e iz o 2w s 33 (GATT) FFF
% forea samam e gan |

(A) 1995 (BY19%

(C) 1996 (D) 1997
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e
d
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A) a (B) 4
) b (D) ¢

Download from www.MsEducationTv.com

3€

37

38

39

41.



¥ . isnot @ state 36.
ne fouowms e
% (B) Temperatire LR
6 . qctio” Work SR
™ 2 gsUre ains from the aggg; .
OF of POlge;ncgtrhcr flower of the
fer,~ a0
7raf® stig B) Zoogamy
T (o the
lt;;aﬂ‘ onogd™ JD1 Nogs of 1hese
) Ger® Jensity of India in 2011 3s.
The Populaml;crsons per s‘;;m'
35- was [B, 3
C
) 269 (D) 382 | s ‘(m]a 349 : D o
0 3% ot of India introduced the Kisan o %‘ﬁ? K Iaﬁ“'ﬁ#&zm(ammmﬁ
: GU"c.mm d [KCC] Scheme In (A) 1995
¥ Credit COT B) 1990
Cre (B) (C) 1998 (B) 1999
(o) 193: (D) 2000 (D) 2000
012 ber crime police station was 40. Wm‘!ﬁmmmwﬂm
o, Indiss frst ¥ REI
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(D) ENTUPEN NUTFE
i - 42, SRRERTIREAY
@ Inplatyhelminthes the body cavity is : ) R
i 4] Present B) w_ﬂﬁq@a
FE (B) Occasionally absent ©) _eft U
%5 (C) Occasionally present . 313@“ .
D e
(D) Absent (D) . Wﬁmmﬁmﬁa
4. Consider the following statements about 43. zﬁqrﬁs' Iq{ aill ﬁm_mﬂﬁ '
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landholding farmers’ families in the Ffet T T i
country to supplement their financial Faeft at ﬁ Rl ¢
needs for procuring various inputs 3qeed 4 aﬁﬂ,a‘ﬁ"@m ot s AR
:Zlgtt_:d_ to agriculture and a_lhed L ; ﬂgﬁ@ﬁ aﬂ‘m‘ﬂ N
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45.

46.

47.

48.

49,

50.

51.

M4

A garrison of 750 men has provisions for
20 weeks. If at the end of 4 weeks
reinforced by 450 men,
remaining provision last ?

(A) 15 weeks
(C) 11 weeks

I8 b ’S
iti that, History 1
he definition e
i Igﬂ:f alrt and the youngcst aspira
the 0 ;
become a scic
(A) J. B. Bury

(C) Karl MarX

Secondary produc

(A) formation of new or
consumers _ '

(B) formation of organic matter by
producer _

(C) formation of inor;
decomposeT

(D) formation of inor
consumers

nce" ?

B) St. Augustine
[[D; Arnold Toynbee

. . of
tivity is the rate ©
A ganic matter by

ganic matter by

ganic matter by

happiness
“Happiness
k towards

The State which has sct‘ up a
department and Orgamizes
Camps” to teach positive outloo

life is
(A) Haryana (B) Karnataka

(C) Madhya Pradesh (D) Kerala

Who is the current President of United
Nations General Assembly (UNGA) ?

(A) Narendra Modi (B) Abdulla Shahid

(C) Kamala Harris (D) None of the above

Girish walks 8 km towards east and turns
right and walks 3 km straight. Again he
turns right and walks 12 km straight. Now

how far is he from the starting point ?
(A) 6 km (B) 5 km
(C) 8 km (D) 10 km

An 'jm:rcase in aggregate demand over the
available output leads to a rise in the price
level. Such inflation is called

(A) Credit inflation

(B) Currency inflation

(C) Demand-pull inflation
(D) Deficit-induced inflation
Who invented water frame ?
(A) Samuel Crompton

(B) James Waltt
(C) Richard Arkwright
(D) James Hargreaves

they are
how long will the

(B) 10 weeks
(D) 16 weeks
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60. Which State in India is po

61.

62.

63.

66.

a4

pularly known as

“God’s own country” ?
(B) Kerala

(A) Kashmir
(C) Goa (D) Himachal Pradesh
refers to storing jobs in a buffer

so that CPU can be efficiently utilized.

(A) Loading (B) Relocating

(C) Swapping (D) Spooling
Should all the factories in the cities be
shifted to outskirts far away from the main
city ?
Arguments : D

I. Yes, this is an essential step for
controlling pollution in the city.

II. No, such steps will lead to a lot of
inconvenience to the employees of the
factories and their families as well,

(A) If neither I nor Il are strong

(B) If both I and II are strong
(C) If only Il is strong
(D) Ifonly 1 is strong

Two solenoids of equal number of turns have
their lengths and the radii in the same 1 : 2.
The ratio of their self inductances will be
(A) 1:2 B) 2:1
€) 1:1 D) 1:4
The part of Himalayas lying between Kali
and Satluj rivers is known as
(A) Kumaon Himalaya
(B) Punjab Himalaya
(C) Assam Himalaya
(D) Nepal Himalaya
What is the main part of the ovule in flower
which is surrounded by two integuments ?
(A) Micropyle (B) Raphe
(C) Nucellus (D) Chalaza

are colourless transition metal

ions.
(A) T, V&, v ' )
(C) vz, Cr”, Mn?* (D) Cr%, Mn*, Mn

(B) Sc*, Ti*, Zn*
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Italy has a parliamentary syste

head of the State
formal B) Emperor

A) Prime Minister .
- (D) President

(C) Chancellor
i inti ksh
While printing the wor
option is also used if only as
the worksheet is to be printed.

i tive sheet
Entire worksheet (B) Ac
o (D) None of the above

Cef-. —

™ clected part of

(C) Selection ]
What comes in the place of question mark 7
2,411,837, ?

(B) 89

(A) 100
(C) 153 (D) 145

In this question, two statements are given
followed by two conclusions. C;hoose the
conclusion(s) which best fit(s) logically.

Statements - E‘ N
1. All kites are light. %5 [EI

2. All lights are moon.
Conclusions :
I. Some moon is kite,
II. Some light is kite,
(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Neither conclusion I nor Jj follows
(D) Both conclusions I and Ij follow
isa meémory management
scheme that allows the pbrocesses to be
stored non-contiguously in memory,
(A) Virtual memory (B) Primary memory
(C) Paging (D) Fragmentation

75.

76.

78. The organisms in which eémbryonal
protection and care are better in
(A) Oviparous organisms
(B) Ovian organisms
(C) Vivian organisms
(D) Viviparous organisms

79. Needle : Sew : : Chisel ; ?
(A) Dig (B) Amplify
(C) Magnify (D) Carve

80. In picture toolbar options, :
command deletes outer portions of the
image. '

(A) Insert picture (B) Format picture
(C) Reset picture (D) Crop
14
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95.

d from the

st effective WOT
. ake the

Pickout the m
1l in the blank to M

given words to fi
sentence meaningfully complete.

Anusha requires great to teach
and handle little children who are naughty.
(A) attitude
(B) patience
(C) aptitude

(D) knowledge

Fill in the blank with appropriate phrasal
verbs from the alternatives given below it.

I shall keep nothing from you.
(A) back (B) from
(C) under (D) on

Give one word substitutes for the

following from the alternatives

given below it.

To isolate, to separate from others
(A) segregate

(B) sedulous

(C) scythe

(D) secluded

Choose the right synonym of the given

word.

CREDENCE

(A) Fearful (B) Trust
(C) Madness (D) Modest

Fillin the blank with appropriate is adjectives
from the alternatives given below it.

Five boys stood in row.
(A) either (B) each
(D) few
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